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3. For what value of the constant c is the function f continuous on
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4. Find an equation of the tangent line to the curve. 
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8. Evaluate the integral by making the given substitution. 
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9. Evaluate the integral 
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10. Evaluate the integral
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17. Find the local maximum or minimum point(s) of the function 
[image: image108.wmf](

)

(

)

2

2

3

4

fxxx

=-

.

(A) 
[image: image109.wmf](

)

2,0

-

   (B) 
[image: image110.wmf](

)

1,3

-

    (C) 
[image: image111.wmf](

)

1,3

--

    (D) 
[image: image112.wmf](

)

2,0

     (E) 
[image: image113.wmf](

)

0,0
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